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3. Anauthorwho writes the story of anotherperson’s
life in known as

(A) Historian
_/-"_(B) Biographer

(C) Chronicler

(D) Diarist

4. Choose from the following alternatives the word
which is opposite in meaning to the word “Ample”.
(A) Sufficient ; ®
(B) Rare
(C) Insufficient
(D) Enough

S. A copper sphere of radius 6 cm is melted to form
spheres of radius of 2 cm. How many such spheres can
be formed?

(A) 27
(B) 31
©) 14
(D) 36
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(A) 27

(B) 31

(€) 14

(D) 36

6 cm Frea1 =Te! A T et F semat 2 cm
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(A) 27

(B) 31

©) 14

D) 36
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(A) 27
(B) 31
© 14
(D) 36
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6. The change of state of a matter directly from solid
to gas is called
(A) Sublimation
(B) Condensation
(C) Evaporation
(D) Deposition
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7. Conversion of 0-5% in decimal is

of

(A) 0-005
(B) 005
(C) 5100
(D) 05x 10

0-5% = Wi A9 Fa0e o 7 33 ¢
(A) 0-005

(B) 0.05

(C) 5/100

D) 0-5x 10

0-5% ﬂmﬁmﬁwﬁaﬁax@wmnﬁw
(A)-0-005
) 0-05
(C) 5/100
(D) 0:5x10

0-5% aﬁwﬁwwﬁaﬁ-—rv&mﬁrm@?
(A) 0-005

(B) 0-05

(C) 5/100

(D) 0-5%10°

8. Rabindranath Tagore wrote underthe pseudonym

(A) Parasuram
(B) Birbal

(C) Bonophul
(D) Bhanu Singha

AL T [ W Frire= Il 27 3
(A) #oaN

(B) =< |
(C) I7g : @
D) SFPItE )

Tts MY TR o o § ey o2

(A) 9T
(B) SRae

(C) FTE
(D) wfeiE

@am&zéﬂﬂz-}@aﬂ#mﬁ@mﬁ?
(A) T/™
(B) siwEe
(©) wTEeT
(D) wigfE

9. A child who has ost both of his parents is called—
(A) A prodigy |
(B) A vagrant
(C) A street child
(D) An orphan

10. Choose the correct antonym of the underlined
word: “Angels descend from heaven.”

(A) Blaze forth
(B) Float

(C) Gallop

(D) Come down

11. How many tiers are there in the Panchayat system
in West Bengal?

(A) Five
(B) Two
(C) Four
(D) Three

ﬂﬁsmﬁwm'mﬁwm?
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5
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(D) fex
Qﬁmmﬁwmﬁmﬁw%?
(A) =

(B)

(C) R

(D) @

Wﬁﬁﬂﬂwwmmmw?
(A) ¥
(B) T
(€) =R
(D)
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12. The Right to lnfonnauon Act was passcd in
the year

(A) 1952

(B) 1977

(C) 2005 \
(D) 2000 N~

iy
TH - r;‘ . 2710

| S G ST SR IR A ARz

(A) 1952
B) 1977 g ,\
~€) 2005 2 |
-0 )
o
ot 1°
Q} .? ),-n.‘—"'to
N 1 anfvrer i for o A ge a2 |
(A) 1952 5a— 30 {pa2®
B) 1977 y %
(C) 2005 jﬂ.ﬂ - 10
(D) 2000
C—tm YL
10
D T
-Wﬂﬁﬁmwﬁiﬁm?ﬁaﬁmm q:n?
(A) 1952 :
(B) 1977
(C) 2005 .
(D) 2000
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13. The age of the father 10 years ago was thrice the
age of his son. Ten years hence, father’ sagewiﬁ'hccwiec
that of his son. The ratio of ﬁmr present age 15

(A) 7:3 ar
(B) 5:2 S}
(Cy9:2 D
@Y F4 50 g SRR
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(A) 7:3 gpam—s =2
(B) 5:2
© 9:2

(D) 13:4
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(A) 7:3
(B) 5:2
{€). 922
(D) 13:4

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click



: il g

r

RB/CN/2016

- 14. A rectangle has width of 5 cm and diagonal of
13 em. Find its perimeter.

(A) 34cm
(B) 36 cm
(O 30cm
(D) 38cm

: 90 WSCHLIT 2% 5 cm 9 T 13 om T
A S ez |

(A) 34cm '

(B) 36 cm

(C) 30cm

(D) 38 cm

Teh 319d ! =e’ 5 cm 9 o 13 cm 31 39
- ufEm R =
(A) 34 cm ;
(B) 36cm
(C) 30cm
(D) 38 cm

TS A A’ 5 cm TFW 13 cm B | SR
(A) 34cm
(B) 36cm
(C) 30cm
(D) 38cm

15. The average age of mother and her six children is
12 years, which is reduced by 5 years if the age of the
mother is excluded. The age of the mother is

(A) 40 years
(B) '48 years
(C) 50 years
(D) 42 years

GG T G B T I I 51T 12 I |
WA I A% T GIR 51T 5 T=g e AW | TG o F9 2

(A) 403™

(B) 48319 P
(C) 503879

(D) 423519

Tl 6 S0 S ol 0t oitgd o 12 99 & | at
:gﬂwﬁméﬁuamsaﬂwamﬁ%ﬁaﬁm
(A) 40 =
(B) 48 =
(C) 5094
(D) 42 94

. WWTWWMmuﬂ
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(A) 40 =
(B) 48 T4
(C) 5074
(D) 42 =

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click



17. Full form of FIR is

16. Find the exactnumber of squares in the followmg
figure: p AL : (A) First Investigation Report
' (A) 16 ——— : (B) First Information Report :
(B) 15 (C) First Incident Report
C) 12 (D) First Instance Report
(D) 18 '_f
D C ;
< +g+q T Lj 2
:
s =fRiftre oIt sfewas st 2w 8 WA - STy
) 16 A B (A) First Investigation Report
@B) First Information Report
(B).15 l (C) First Incident Report
(0 12 J ' (D) First Instance Report Cp
(D) 18 J o ) .
i —p
9 e ) o & ot A wEwEE R | |
A ' B - FIRF I ®I2 :
A) 16 _j ‘ (A) First Investigation Report
(B) 15 [__ _’ i . (B) First Information Report
(©) 12 L_I ’ (C) First Incident Report
D) 18 b . .(D) First Ingtancc Report 16
pav)
- | . Zps
eI Fammn sl e g @) V
o _ 5 - , : !
(A) 16 8 '  FRHAT &2 -
(B) 15 , (A) First Investigation Report
©) 12 L (B) First Information Report
(D) 18 G T (C) First Incident Report
B : cl - (D) First Instance Report
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~ 18. Who was popularly known as ‘Sher-e-Punj ab’?
(A) Bhagat Singh
(B) Jai Prakash Narayan
(C) Lala Lajpat Rai
- (D) Ram Monohar Lohia

%‘ ‘CI-a-Higi’ i «ifdfos e 2
(A) &5 B
(B) & & W
) SN e AR
(D) AW R @A

0

"IR-u-ueE’ & T QA faema 9
(A) v Tz

(B) ST R TR0

(C) et SeId T

(D) T WA efean

“YR-u-TrenE’ S AHE T w2
(A) W fog

(B) I W1 R0

(C) e weTad T

(D) TH AR wifean

At

19. A man has some hens and cows. If the number of
heads be 48 and the number of legs equals to 140 then
the number of hen will be

(A) 22
(B) 23
(C) 26
(D) 24

@Wﬂﬁmﬁﬁﬁ%m\mﬁ_ﬂ?fﬁwﬁ
IR M (A AL 48 uﬂa\Wmﬁﬁ\'«’m 14023,903

- ERGT Iir FOuf Sfﬁ’f fest? £
(A) 22 \5) \\,k @
(B) 23

© 26

D) 24

. b\ \U\D
"\"‘ . .

T AR % g el ve e ¥ ) afs ot 9
FIHEA 48 9 W W i e A 140 D), gt wr gen
Bt

(A) 22

(B) 23

(©) 26

(D) 24

ﬁmﬁawmgﬁfﬂm%ﬁ@mﬁfﬂmm
481@@@14@%5&@%@[%3?
(A) 22

(B) 23
© 26
(D) 24




20. An autorickshaw is movin ’
g at a speed of
40 kmjhr for 2 hours and 30 minutes. If jt reaches the
destination in another 1 hour, then the total distan,
" covered by the auto will be ' <

(A) 120 km
(B) 140 km
(C) 160 km
(D) 200 km

G SBIfEE 40 kmv/hr SifSTRTst 2 9% 30 %
SR | AW T ISR WS 1 9%t A e, wr
SEIRHRID Gt T e wiews e

(A) 120 km

(B) 140 km

(C) 160 km

(D) 200 km

T AT 40 fehofio /s % nifa § 2 7 30 fime
SO ® | T R IgE # afe 38w s sl e, @ et
o B el T 7 H O

(A) 120 fwfa.

(B) 140 f&.fa.

(C) 160 fh.fa.

(D) 200 f&.fa.

T STARRM 40 km/he 3 TR 2 =1 30 ffire
T 1 TS T T A 37T 31 | S 7S, | ) 3
T et wed1? | _

(A) 120 km

(B) 140 km

(C) 160 km

(D) 200 km

9
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21. Each occupation has it own : bankers,
lawyers and computer professionals, for example, all
use among themselves language which outsiders have
difficulty to follow.

(A) rewards

(B) jargon

(C) disadvantages
(D) merits

22. Which of the following are primary colours?
(A) Blue, Red, Yellow

(B) Red, Yellow, Green

(C) Yellow, Blue, Green

(D) Red, Blue, Green

R o 7o G 76 <611 22

(A) e, =10, Zo

(B) =1, 2o, A&
(©) =, A4, &
Fraferfias 1 % @ 37 3 e 1§ 2
(A) e, e, en ‘
(B) e, die, &
(C) drem, Hrem, &0
(D) @, e, '

Frafafea v a1 difers a1 82
(A) el T, T’
(B) T, ueel, s
(C) Teen, ieh, efEh
(D) T, e, s

/{3. Opposite of “SYNTHETIC” is
(A) Cosmetic
(B) Plastic
(C) Natural
(D) Artificial
'\)
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24. Change the following interrogative sentence into
indirect speech:
He asked me “do you like music?”
(A) He said that whether I like music.
(B) He told that whether you like music.
(C) He asked me whether I liked music.
(D) He asked me did you like music.

25, Which number replaces the letter ‘X'?

(A) 263
| (B) 253
| (©) 273
(D) 283 .
X Fofere T @ R IR 2

ONON®

(A) 263 @ &
(B) 253
(C) 273
- (D) 283 |
= fed o fos & SER ‘X’ WA B

2 OXON®
©
(A) 263 _. .

| (B) 253
: (C) 273

(D) 283

" (A) 263
(B) 253
(C) 273

(D) 283

10

26. Complete the series:

JAK, KBL, LCM, MDN,
(A) OEB
(B) NEO
(C) PFQ
(D) MEN

ifafs sy et 8
JAK, KBL, LCM, MDN,
(A) OEB

(B) NEO

(C) PFQ

(D) MEN

Tq e g H

JAK, KBL, LCM, MDN,
(A) OEB
(B) NEO
(©) PFQ
(D) MEN

A P U

JAK, KBL, LCM, MDN, _

(A) OEB
(B) NEO
() PFQ
(D) MEN
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27. The word “Jhum” is meant for—

(A) Political movement in the North East of
India

(B) Agricultural activities in the North East of
India

(C) Tribal goddess of North East India

(D) Traditional dance form of North East India

b
v
%
(A T F @RS I T A2

(A) TEe SRS AGATSS HTHEAT
By Seaed wraren 3 w1

(C) Tered oIared Boreer (Ml

(D) Tezed SiRTed 2ofee A6

-

@Wﬁﬁﬁﬂ%ﬁﬂwmwm
(A) WA & YEieR § T qeien ST=er
(B) TR % Yeicer § W Y Hrdehed

(C) “RA & AT o SIfeieh <all

(D) WRA ¥ Yarer il Th A

"R’ Y SRR % T §9?

(A) VIR qaierR T3 T STier
(B) WReH! e T8 o Freferend
(C) Wawh qafar & i S <o« -
(D) e i T8 e

11
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28. When you see any traffic signal, which sequence

of signal do you observe from top to bottom?
(A) Red - Green - Amber
(B) Green - Amber - Red
(C) Green - Red - Amber
(D) Red - Amber - Green

_ Fmﬁrﬂfwﬁmﬁww%ﬂamﬁw

3 O (I S (7t A 2
(D

(A) & - @ - T

(B) 1% - T - e

T e W SR Y R & SR FAm A A
feaa ¥?

(C) 3@ - =T - T
. (D) &0 - T - A9
(A) & - T - diel
(B) &1 - diel - &
(C) T - e - e
(D) e - el - &

T farern meft 9 9, 1§ T e 07
(A) T, TR, weel

(B) =i, vged, T

(C) &, T, vl

(D) e, ween, B
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~ 29. Which day is observed as “World Environment
Day’ each year?

(A) 5th July

(B) 25th June

(C) 5th June

(D) 15th June

Wmmm AR e et AT
g

(A) ST

(B) 250+ Tw
_AC) 2w

(D)-15% &=

D

Torea weitaror feag @t urem foapg e foran <t €2
(A) 5o

(B) 2533

- (C) 59

(D) 1517

vt eercon el o e e 2
(A) 5

(B) 25T

(©) 59 ‘

(D) 15 3

12

for

s

In the computer software terminology, PDF stands

(A) Portable Document Format
(B) Portable Digital Form

(C) Printable Digital Format
tD) Printable Document Format

Computer Softwar-« PDF 3265 wjeffet et el ¢
A) Portable Document Format

(B) Portable Digital Form

(C) Printable Digital Format

(D) Printable Document Format

D

HIR WRIT H W@t § PDF 2t &:

”

(A) Portable Document Format

(B) Portable Digital Form
(C) Printable Digital Format
(D) Printable Document Format

R FRATE YA PDF W A2
(A) Portable Document Format '
(B) Portable Digital Form

(C) Printable Digital Format

(D) Printable Document Format
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(A) Knowledgeable
(B) Omniscient
(C) Clever

(D) Intelligent

32. A pump can fill a tank with i
Wate
Because of a leak in the tank, it takes 2~ ho:;g t2 tl"] iy
tank. The leak ¢ K i s
l an empty the filled tank in

(A) 2 5 hours

(B) 8 hours

(C) 7 hours
4 hours

@%ﬂrﬁvmaﬁﬁnwm%mwﬂmﬂm
0% <0 FO! APR & G o5 e Mg
2§ﬂ®mmﬂawﬁﬁnﬁaﬁsmmﬁmm?

(A) 2'—;— oy
(B) 8 9%
(C) 79%

@14%‘1};

T Tl o q A A H T T 2 S o
méﬂﬁwm%m’éﬁﬁﬂﬁﬁ;%w@mqﬁ
9t i fox A @relt w0 F 9y @i

(A) 25 S

(B) 8

(C) 7

(D) 147

TS qoe] SHfRAT 91 94 g3 v eTes | @

 IRHHT G O RO T 2. S i i |
Tl o1 I ST s 2if Hi quamn arett §s?

&) 25 5= .

(B) 8& = ' ‘

©) 7%=

(D) 14 5=

33. The father was anxious
his daughter.

(A) at

(B) for

(C) about \\i “
(D) with Lﬁ

34. Whenaplotoflandis sold forZ 18,700, the owner
losses 15%. At which price the plot be sold in order to

gain 15%? e
(A) T22.500 53
B) ¥ 21,000 g?U"J b
(C) 25,300 \ l 1\\ S
(D) 25,800 —525
L @
. .ﬁ/’;:gﬁo
GBS T 18,700, Bee Rfr e sRENBIea

15% ® =7 | @ Wi o S Rite w0 TR 15%
e Z? :

@A) T22500 rgaed ¥ IS

(B) % 21,000 1> _
Ay Tns0 T . ..
(D) % 25,800

I FTH TSR T 18,700 F I T 35 Wl

FN 15% &L 115% e ¥ fere 38 sq gwe A
ol T 991 Tifgn?

(A) T 22,500

(B) ¥ 21,000

(C) T 25,300

(D) T 25,800

I\ 1 T g T 18,700 71 32 A 15% &
- T 15% T T e i i A T2

| (A) T22,500 :

®B) 21,000 |

(©) 25,300

(D) 25,800
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L 35. If P denotes ‘+’, R denotes ‘x’, S denotes ‘-’ and

I' denotes ‘/’(+) then what would be the value of
SRO9P7S9T3P6?

(A) 55
(B) 39
(©) 54
(D) 128

M P-gx o, 4+, R-q7 9 “x’, S-47 we

TR T-GT 9 */'(+) W, S5 RIP7S9T3 P 6-
G T IS I 2

(A) 55
(B) 39
(C) 54
(D) 128

T P+ F G FC, R 0 B g

RS R RAE, T /'(+) ® gfea &= &, @
S5ROP7S9T3P6F AN :

(A) 55
(B) 39
(C) 54

- (D) 128

g P Y+, R 314 x’, ST aef Oy Ty
e ¢/(+) 9, SRIP7S9T3 P 6 F 7H %t 557

(A) 55

B) 39

(©) 54

(D) 128

36. Which of the following is not a session of th;., =
Indian Parliament?

(A) Summer session
(B) Winter session
(C) Monsoon session
(D) Budget session

AR @I SIS AT ST 72
(A) A=A ST

(B) Ao Sifgramia

(C) I i

(D) TG ST

0

TTH A BT WA T e T
(A) TroTepei Afvdem

~ (B) e SifiEee

(C) TR ifeaem
(D) e AfyayH

Hﬁﬁ@ﬁﬁﬂ?ﬁﬂ‘ﬂ#ﬁﬁ%aﬁﬁm%?

- (A) TSR 31

(B) IMaerrei= tfidym
(C) TR Stfirdem
(D) ¥R sfadem
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37. Which one of the following gland is located very 38. Arrange these four districts _of West Bengal from
near the brain? North to South
(A) Pituitary gland (i) Burdwan
(B) Thyroid gland (i Babus
- (iii) Birbhum
- (C) Adrenal gland (iv) Howrah
(D) Pancreas (A) (i), (iii), (@), (v)

®B) (@), (iid), (ii), (v)
(©) (i), (@), Gi), Gv)
(D) (), (i), (i), (v)

S5 MG (e fice B (A niw e

e SR S A ¢
@ A TR FRow IR 1S, Gif 2= ¢ 0 <
Na) PR ofy (ﬂg %

i (iv) Q€T

(C) wuiigareT &g (A) @), Gid), @), Gv) X

(D) P CD ;o ®) G, Gib, Gi). v/
(© (i, @, (i), V)
D) (@), G, (i), V)

uﬁwaﬁnﬂ%sﬁﬁ:ﬁiﬂmﬁﬁmtmﬁ _

ol |
(i) g9
= & B i R T TR (ﬁg Fm
(4) Fregeett Ut ' (iv) et |
(B) ursUzE Uufy (A) (i), (iii), (@), (dv)
(C) AT Ut ' N ®B) (), (i), (ii), (v)
(D) =™ : (C) (i), (@), (i), (iv)
' (D) (@), (i), (ii), @v)
it g et Tee Sar e S T
BREIESE
(i) s¥aF
3 (ii) e
mﬁm@mﬂﬁaﬁmwﬂﬁﬂﬁ“@? ((m) XS
(A) fagert Uy S V) W
. : : (A) (i), (i), (), (1v)
(5) SRy . _ B) (i), (i), (i), (iv)
(C) e 1y ' (©) (i), (i), (ii), (iv)
(D) =™ ' & . (D) @), (), (i), (iv)
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39. Change the voice of the following sentence:
“Who is creating this mess?”
(A) By whom this mess is being created
(B) Who has created this mess.
(C) By whom is this mess being created.
(D) By whom has this mess been created.

40. Choose the correct synonym of the word
Insurgency

(A) Rebellion

(B) Hostility

(C) Attack

(D) Enmity

41. A clock loses 5 seconds a hour. If the time in the
clock is set right on sunday noon, then what time will it
indicate on monday noon (i.e., the next day)?

(A) 12:00 Noon
(B) 11:58PM
(©) 12:02PM
(D) 11:58 AM

<3 9 2AfS 9w 5 s 3@ @ @ AT
T FfFaa wojeE (1251 ) 9B s e @ creat
@ﬂﬂﬂﬁﬁgﬁ(mﬁaﬂmﬂwzﬁ)ﬂﬁsﬁﬁm
(TR 2

(A) 12 : 00 Sz

(B) 11:58 PM

(C) 12:02PM

(D) 11:58 AM

e wE U s 5 Vawve G 3t ® | 9f wE w w
tﬁanumzﬁrmﬁufﬁaﬁmwﬁ 0 HIER TeE
%1 3GH GHT SFN:

(A) 12 :00 741G

(B) 11:58 PM

(C) 12:02PM

(D) 11:58 AM

THIA AT S FFeFATD I A o Hraa |

foar Hea1g i T, T AR H qeAE W 9N F5
TERS?

(A) 12:00 918

(B) 11:58 PM

(C) 12:02PM

(D) 11:58 AM
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42. Sum of two numbers is 45. Their difference is
1/9th of their sum. Their L.C.M. is
(A) 100
(B) 150
(C) 250
(D) 200

afb A1 st 45 | YW Resiwe o
QT 1/9 Set | HRANGHA 71718, 2@ &

\A) 100

(B) 150 D s
(C) 250 ! %
D) 200 . "0

Q1 3{ehl T AT 45 ¥ | ST 370 I AT
1/991 3791 & | 3701 L.C.M. 31T :

(A) 100

(B) 150

(C) 250

(D) 200 &

T8 3feheh! ANTHCT 45 B | STHe 3T ATheT =7 1/9
39 B 3 LCM. & T9?

(A) 100
(B) 150
(C) 250
(D) 200

43. A person who helps anolher to commit a crime is
called

(A) Colleague
(B) Accomplice
(C) Assistant
(D) Gangster
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44. Introducing aboy, a girl said “He is the son of the

daughter of the father of my uncle.’l;ligw is the boy_
related to the girl? X
(A) Nephew f
(B) Cousin 4 n ¢
(C) Brother ﬁ R B
(D) Son-in-1 J
i

3t @EE «AfEhe T T 93 G I
“q SISITE 1T IR (T (A 101 F @ (eafba il

@ (AR TR WR?
(A) SiRE "
O
) SR WS AN
(D) &R ;ﬁﬁ“’¢£f/K

: T T o e 3 T e A e, MW
=T 3 fir = 59 0 e B 1 e T § R Hefd
T

(A) ¥dtsT

(B) THU WX

(C) g

(D) THIE

@amvﬁauﬁ%mﬁﬁ =i, 21 B IR
FETE SR B B | Fe T Hrehl & T B?

(A) st
(B) 9
(C) W

(D) =%

F

17
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45. P, Q, R, S and T are five boys. Given that P is
taller than Q, R is shorter than P, S is taller than T but

shorter than Q, the tallest boy is
(A) P
®) Q
T
D) R

P,Q,R, S, T et siivee @i, T P, Q-9 (U
vl 70; R, P49 (ACF (0! T3 S, T-49- (A0 o741 g
Qa3 (AT RGI | ST R SO ST a7 (A (& 2

(A) P

B) Q

©) T prp 9.

(D) R fz‘af?'ﬂg'

P,Q,R, STH THa eigh € 1 IR P, QA T,
RPABAE, S, TH e fiig Q A Trar &, A 378 4 T
el L B .

(A) P

(B) Q

o T

(D) R

P, Q, R, S, T ufa %ee® 21 1 3fg P, Q W< &7,
R, P9I 9, S, T ¥l o1 t Q Wl BId W, Tl 9=
e 7

(A) P

(B) Q

© T

©) R
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47. Dipa Karmakar participated in which game in

7)46. The State with highest population density is
' : Olympics?

,’ (A) West Bengal

(B) Bihar
(C) Uttar Pradesh
(D) Maharashtra

(A) Athletic
(B) Swimming
(C) Gymnastics
(D) Boxing

TG @GR! gl qrenfs 2@ ¢ R TR SRR (P (3T el 8129 LT ?
(&) Ao (A) SO | |
| ) fr (8) Hom

i (C) Temzmm } ey femniee

(D) =g @

(D) MW @

aﬂ%ﬁﬂmﬂ;m@aﬁﬂmmﬁmmm

o AT THEE S 9en T (A) e y
(A) dfe=m amer B) TR

(B) foer - (C) Fomifea

(C) SR AT (D) T

(D) HeERE

e e, ST ) et e e ey

T 1 ST S T R frl?

(A) o= g (A) erifesm
B) feer (B) ¥

(C) 3R We¥ (€) famfesm
(D) WERIE (D) TEhaS

/
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- 48. Thesidesofatriangle aremtheratlo 0f7:9:12.The

difference between the lengths of the largest and smallest

sides is 15 cm. The length of the largest side is -
(A) 12cm
(B) 24 cm
(C) 60cm
(D) 36 cm

G fagred el Sge = 7: 9 12/ 7
HAHT TC 2GR FAIABE (RG] A G 15 om 2, ©7F
A T AR 1 2 ¢

(A) 12cm

(B) 24cm

(C) 60 cm

(D) 36 cm

WEYE%EE7:9: 12%Wﬁ% | e T

AH g3 F FR 15 cm T | JewH I H T3 BRI
(A) 12cm
(B) 24 cm
(C) 60 cm
-(D) 36cm - -

W AR ag 7:9: 12 3| Fad e T el
mﬁtﬁlﬁﬁcm?ﬂﬂaﬁwii@g@

(A) 12cm
(B) 24cm
(C) 60cm
(D) 36 cm

49. Choose the correct one word substitution of the
following sentence: o _
“A decision on which one cannot go back”.’
(A) Incorrigible e L
(B) Irreplaceable
(C) Irrevocable
(D) Infallible

X®Y w1 fi o afy, Ydz

RB/CN/2016

50. 630items are divided among X, Y and Z in such
a way that X gets thrice that of Y and Y gets
5 times that of Z. Find the number of items received by

X.
(A) 425
(B) 400
(C) 450
(D) 475

630 & e X, Y 938 Z-43 S04 GSItE Sl 30d
(el T @ X, Y-a3 (U forad 9k Y, Z-49 (A
shioad &l (ot | X Fouf & e cmfes

(A) 425

(B) 400

(C) 450

(D) 475

630 55T A X, Y & Z ¥ 59 usR § Fyanifora faran
e & o6 X 1 Y & i 7om 3R Y 9 Z R wite 1on firera
TIX A o owg firel?

(A) 425

(B) 400

(C) 450

(D) 475

o 3 7Y, XA

630 SEH W X, Y, Z T aal

i g I
(A) 425
(B) 400
(C) 450
(D) 475
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5L Ify=3x+ 12 and y = 5, then the value of x is

(A) 3/7
(B) 773
© -7
(D) -7/3

MWy=3x+12¢3y= 5, O x0T T T ¢
(A) 377

B 7/3
© -
D) - 7!__3

ARy =3x+12Ty=57, ?hxa;mnémr

(A 377

B) 773
© -7
(D) -7/3.

My =3x+ 123y = 5@« PrarFdan
(A) 3/7 - |

(B) 7/3

© -7

(D) -7/3

20

52. In India, supply of money is controlled by

(A) Ministry of Finance
(B) Reserve Bank of India
(C) Finance Commission
(D) State Bank of India

WWmﬂmwﬁWTm?
(A) 5 5w

TB) SO s s
(C) uef Ffemisy -

(D) ©IFe G55 rw

O

I T 1 AT e g e e 82
(A) Tam Wt

(B) 9rdtg figd S

(C) Tom smm

(D) YR ®e ¥
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53, When a number is fj
st inc
then reduced by 10%, the number "rised:by: 10% and

(A) decreases by 19
(B) does not change
(C) increases by 1%
(D) increases by 9%

40 THS AW LA 10% Eabred
@mvﬁ
AT 2, O3 77776 10%‘

(A) 1% IR
LB Fefbe za

(©) 1% A%
. 0
<4

(D) 9% e
I THF IS 10% wﬁmmaﬁ*ﬂmm%w
T s @ e g

(A) 1% 7 B St
(B) THM @ -

(©) 1% =g Sart
(D) 9% =% et

T3 HEARTE IS 10% T2 X HR 10% S2rw

(A) 1% F9 D
(B) WHH &
(C) 1% 5D
(D) 9% 5EB
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54. Inacertaincode “PROSE” s written as “PPOQ
how is “LIGHT” be written in that code? 3
(A) LIGHT
(B) LGGFT
(C) LGGHT
(D) LLGFE

O

3t (P AFSFHTS “PROSE” & “PPOQE”
T 2 O GRR MFSH gl “LIGHT” & el
T 2 ?

(A) LIGHT

(B) LGGFT Ll

(C) LGGHT

(D) LLGFE -

afguF Hehd ferfa # “PROSE” %1 “PPOQE” ferar
ST ®, < “LIGHT” %1 =1 feran wmam?
(A) LIGHT
AB) LGGFT
(C) LGGHT
(D) LLGFE

Sif USer WgH fefty 71 “PROSE” w1 “PPOQE”
fera, “LIGHT” < & fafamn et eifigs?

(A) LIGHT

(B) LGGFT

(C) LGGHT

(D) LLGFE
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SS. Satyajit Ray Film & Television Institute is located
(A) Ranchi )I
(B) De{hj

‘ /(e) Kolkata

: (D) ‘Mumbai

wATeNfEre, A Rew it GRfem TFoREs @ium

TRiEe?
(7 s

T &

(&) #iB
®) fl
i (©) Fvrel
: (D) =R

5 TS T fren Tue Yo siese el feor

(A) =t
(B) Tt
(C) wIeTeman
(D) =g

Hﬂsﬁamﬁwqmi?ﬁﬁmmqgmm

B?
(A) U=
(B) feweft
(C) hieTehrar
| (D) g=T
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56. ELISAtestisusedtodetectwhichofthe foHOWing 3
disease?
(A) Cancer
(B) HIV/AIDS
(C) Brain tumor
(D) Malaria

ELISA (536f6 (I (151 WIS FI0S AR I 2
(A) AR '

(B) 4. Wiz, f¥./a2wr @) by
(€) @& Bewm ‘
(D) Sesifaat

ELISA Sf= 37 % ¥ fofm Om ot ve=m % for g
a1 7?2

(A) FR

(B) . 3T, Hi/ueH
(C) 99 =R

(D) Fafm

"'EBISAﬂ'ﬂiﬁ@ﬁqmwﬁn@?
(A) F :
(B) W 1. d/uzm

(C) 7 =FR
(D) HeirEn
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(A) stronger

(B) strongful .

I(C). strongést
(D) strengthen

58. Choose the best preflx Wthh ma

word “Spoken”?
(A) De
(B) Out -
(C) Dis
(D) En

below:
A police team was - - 1to
(A) formed, following
- . (B) constituted, investigate
(C) committed, study
'(,D) iocated, adjudge

g ‘57, The exact word which denotes the hlghest degree
& of comparison to the word * ‘strong” is

59. Flll in the blank thh appropriate ‘words given

(A) 1
(B) ~11
(©) 11
- (D) -1
Moz & BT T el o7 ¢
: - (BIx3)-¢/i6x4)
_ (V16 x 4) - (/81 x3)
tches with the @A) 1 :
e (B) =11
- (©) 11
(D) -1
(J_xs) (\/‘sxrn
(V16 x 4)~ (fxs) ﬁm'_
A1
(B) —11
(C) 11
D) -1
mﬁmﬁmﬁwﬁﬁm:_
the case. (\[S_I_X 3)- (V16 x 4)
A 1 (\ﬁg_x4)—(\fﬁx3)
B) —11
(©) 11
D) -1

23

60. Evaluate the follo»_vingf

O (Bix3)-(fexa)
© (V16x4)=(\B1x3)
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